30-	DAY+ 1 8th ST S Irgo, ND 58103	Schedule Dates Advertiser Agency Product Brand Salesperson Sales Office Buyer Name Phone/Fax CPE Account Types Billing Type Comments	91526 05/14/24-05/20/24 Tammy Miller for North Dakota (9880) AdVictory (2150) POLITICAL ND Governor (1053) Political (1024) Jen, Gion (1006) WDAY / AV514520 National/Political - Candidate Standard WDAY+ 5.14-5.20.24	Date Entered Last Modified Entered By CO-OP External # Demo Order Type Package Deal Commission % Commission Net Total Sales Tax	05/10/24 05/17/24 Jennifer Gion No Normal 15.00 \$2,803.50 \$15,886.50	WDAY+ (WDAY+) By Broadcast Month May. 2024 Grand Total:	Spots 95	Rate \$18,690.00 \$18,690.00
-----	--------------------------------------	--	--	--	---	--	--------------------	---

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run Times	SPW	Мо	Tu	We	Th	Fr	Sa	Su	Spots	Rate	Total	Station	Comments	Entered
1.1	Normal Line / SPOT	05/14/24-05/17/24	1	:3	0 5A- 6A (CST)			1	1	1	1			4	\$70.00	\$280.00	WDAY+ (WDAY+)		5/10/24
2.0	Normal Line / SPOT	05/20/24-05/20/24	1	:3	0 5A- 6A (CST)		1								\$70.00		WDAY+ (WDAY+)		5/10/24
3.0	Normal Line / SPOT	05/14/24-05/17/24	1	:3	0 7A- 8A (CST)			1	1	1	1			4	\$350.00	\$1,400.00	WDAY+ (WDAY+)		5/10/24
4.1	Normal Line / SPOT	05/20/24-05/20/24	1	1:0	0 7A- 8A (CST)		1							1	\$700.00	\$700.00	WDAY+ (WDAY+)		5/17/24
5.0	Normal Line / SPOT	05/14/24-05/17/24	1	:3	0 8A- 9A (CST)			1	1	1	1			4	\$170.00	\$680.00	WDAY+ (WDAY+)		5/10/24
6.0	Normal Line / SPOT	05/20/24-05/20/24	1	:3	0 8A- 9A (CST)		1							1	\$170.00	\$170.00	WDAY+ (WDAY+)		5/10/24
7.0	Normal Line / SPOT	05/14/24-05/17/24	1	:3	0 9A- 10A (CST)			1	1	1	1			4	\$90.00	\$360.00	WDAY+ (WDAY+)		5/10/24
8.0	Normal Line / SPOT	05/20/24-05/20/24	1	:3	0 9A- 10A (CST)		1							1	\$90.00	\$90.00	WDAY+ (WDAY+)		5/10/24
9.0	Normal Line / SPOT	05/14/24-05/17/24	1	:3	0 10A- 11A (CST)			1	1	1	1			4	\$70.00	\$280.00	WDAY+ (WDAY+)		5/10/24
10.1	Normal Line / SPOT	05/20/24-05/20/24	1	1:0	0 10A- 11A (CST)		1							1	\$140.00	\$140.00	WDAY+ (WDAY+)		5/17/24
11.0	Normal Line / SPOT	05/14/24-05/17/24	1	:3	0 11A- 12P (CST)			1	1	1	1			4	\$100.00	\$400.00	WDAY+ (WDAY+)		5/10/24
12.1	Normal Line / SPOT	05/20/24-05/20/24	1	1:0	0 11A- 12P (CST)		1							1	\$200.00	\$200.00	WDAY+ (WDAY+)		5/17/24
13.0	Normal Line / SPOT	05/14/24-05/17/24	1	:3	0 12P- 1P (CST)			1	1	1	1			4	\$50.00	\$200.00	WDAY+ (WDAY+)		5/10/24
					CON	FIF	RM/	AT	10	Ν (CC)N.	TR	AC	Т				
Accepted	-Agency/Advertiser:			Date:	Accepted-Sta	ation:									Date:	Comments:			



AdVictory PO Box 367 Spencerville, MD 20868

	Advertise
S	Agency
58103	Product
	Brand
	Salespers
	Sales Offi
	Buyer Na
	Phone/Fa
	CPE
	Account T

Contract #	91526	Date Entered	05/10/24
Schedule Dates	05/14/24-05/20/24	Last Modified	05/17/24
Advertiser	Tammy Miller for North Dakota (9880)	Entered By	Jennifer Gion
Agency	AdVictory (2150)	CO-OP	No
Product	POLITICAL ND Governor (1053)	External #	
Brand	Political (1024)	Demo	
Salesperson	Jen, Gion (1006)	Order Type	Normal
Sales Office	WDAY	Package Deal	
Buyer Name		Commission %	15.00
Phone/Fax	1	Commission	\$2,803.50
CPE	AV514520	Net Total	\$15,886.50
Account Types	National/Political - Candidate	Sales Tax	
Billing Type	Standard		
Comments	WDAY+ 5.14-5.20.24		

WDAY+ (WDAY+)		
By Broadcast Month	Spots	<u>Rate</u>
May. 2024	95	\$18,690.00
Grand Total:	95	\$18,690.00

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run Times	SPW	Мо	Tu	We	Th	Fr	Sa	Su	Spots	Rate	Total	Station	Comments	Entered
14.0	Normal Line / SPOT	05/20/24-05/20/24	1	:30	12P- 1P (CST)		1							1	\$50.00	\$50.00	WDAY+ (WDAY+)		5/10/24
15.0	Normal Line / SPOT	05/14/24-05/17/24	1	:30	1P- 2P (CST)			1	1	1	1			4	\$50.00	\$200.00	WDAY+ (WDAY+)		5/10/24
16.0	Normal Line / SPOT	05/20/24-05/20/24	1	:30	1P- 2P (CST)		1							1	\$50.00	\$50.00	WDAY+ (WDAY+)		5/10/24
17.0	Normal Line / SPOT	05/14/24-05/17/24	1	:30	2P- 3P (CST)			1	1	1	1			4	\$40.00	\$160.00	WDAY+ (WDAY+)		5/10/24
18.0	Normal Line / SPOT	05/20/24-05/20/24	1	:30	2P- 3P (CST)		1							1	\$40.00	\$40.00	WDAY+ (WDAY+)		5/10/24
19.0	Normal Line / SPOT	05/14/24-05/17/24	1	:30	4P- 5P (CST)			1	1	1	1			4	\$150.00	\$600.00	WDAY+ (WDAY+)		5/10/24
20.1	Normal Line / SPOT	05/20/24-05/20/24	1	1:00	4P- 5P (CST)		1							1	\$300.00	\$300.00	WDAY+ (WDAY+)		5/17/24
21.0	Normal Line / SPOT	05/14/24-05/17/24	1	:30	5P- 5:30P (CST)			1	1		1			3	\$450.00	\$1,350.00	WDAY+ (WDAY+)		5/10/24
22.0	Normal Line / SPOT	05/20/24-05/20/24	1	:30	5P- 5:30P (CST)		1								\$450.00		WDAY+ (WDAY+)		5/10/24
23.0	Normal Line / SPOT	05/14/24-05/17/24	1	:30	6P- 6:30P (CST)			1	1	1	1			4	\$700.00	\$2,800.00	WDAY+ (WDAY+)		5/10/24
24.0	Normal Line / SPOT	05/20/24-05/20/24	1	:30	6P- 6:30P (CST)		1							1	\$700.00	\$700.00	WDAY+ (WDAY+)		5/10/24
25.0	Normal Line / SPOT	05/14/24-05/17/24	1	:30	10P- 10:35P (CST)			1	1	1	1			4	\$750.00	\$3,000.00	WDAY+ (WDAY+)		5/10/24
26.0	Normal Line / SPOT	05/20/24-05/20/24	1	:30	10P- 10:35P (CST)		1							1	\$750.00	\$750.00	WDAY+ (WDAY+)		5/10/24
27.0	Normal Line / SPOT	05/14/24-05/17/24	1	:30	10:35P- 11:35P (CST)			1	1	1	1			4	\$150.00	\$600.00	WDAY+ (WDAY+)		5/10/24
	CONFIRMATION CONTRACT																		
Accepted	-Agency/Advertiser:			Date:	Accepted-St	ation:									Date:	Comments:			



AdVictory PO Box 367 Spencerville, MD 20868

	Contract Schedule Dates
	Advertiser
S	Agency
58103	Product
	Brand
	Salesperson
	Sales Office
	Buyer Name
	Phone/Fax
	CPE
	Account Types

Billing Type Comments

Contract #	91526
Schedule Dates	05/14/24-05/20/24
Advertiser	Tammy Miller for North Dakota (9880)
Agency	AdVictory (2150)
Product	POLITICAL ND Governor (1053)
Brand	Political (1024)
Salesperson	Jen, Gion (1006)
Sales Office	WDAY
Buyer Name	
Phone/Fax	/
CPE	AV514520
Account Types	National/Political - Candidate
Billing Type	Standard
Comments	WDAY+ 5.14-5.20.24

Date Entered	05/10/24
Last Modified	05/17/24
Entered By	Jennifer Gion
CO-OP	No
External #	
Demo	
Order Type	Normal
Package Deal	
Commission %	15.00
Commission	\$2,803.50
Net Total	\$15,886.50
Sales Tax	

WDAY+ (WDAY+)		
By Broadcast Month	Spots	<u>Rate</u>
May. 2024	95	\$18,690.00
Grand Total:	95	\$18,690.00
		. ,

Line	Line Type / Break Type (Ref #)	Dates	Sec Le	ngth	Run Times	SPW	Мо	Tu	We	Th	Fr	Sa	Su	Spots	Rate	Total	Station	Comments	Entered
28.0	Normal Line / SPOT	05/20/24-05/20/24	1	:30	10:35P- 11:35P (CST)		1								\$150.00		WDAY+ (WDAY+)		5/10/24
29.0	Normal Line / SPOT	05/14/24-05/17/24	1	:30	11:35P- 12:05A (CST)			1	1	1	1			4	\$70.00	\$280.00	WDAY+ (WDAY+)		5/10/24
30.0	Normal Line / SPOT	05/20/24-05/20/24	1	:30	11:35P- 12:05A (CST)		1							1	\$70.00	\$70.00	WDAY+ (WDAY+)		5/10/24
31.0	Normal Line / SPOT	05/14/24-05/17/24	1	:30	12:37A- 1:05A (CST)			1	1	1	1			4	\$40.00	\$160.00	WDAY+ (WDAY+)		5/10/24
32.0	Normal Line / SPOT	05/20/24-05/20/24	1	:30	12:37A- 1:05A (CST)		1							1	\$40.00	\$40.00	WDAY+ (WDAY+)		5/10/24
33.0	Normal Line / SPOT	05/14/24-05/17/24	1	:30	1:37A- 2:35A (CST)			1	1	1	1			4	\$40.00	\$160.00	WDAY+ (WDAY+)		5/10/24
34.0	Normal Line / SPOT	05/20/24-05/20/24	1	:30	1:37A- 2:35A (CST)		1							1	\$40.00	\$40.00	WDAY+ (WDAY+)		5/10/24
35.0	Normal Line / SPOT	05/18/24-05/18/24	1	:30	5A- 6A (CST)							1		1	\$40.00	\$40.00	WDAY+ (WDAY+)		5/10/24
36.2	Normal Line / SPOT	05/18/24-05/18/24	1	1:00	6A- 7A (CST)							1		1	\$160.00	\$160.00	WDAY+ (WDAY+)		5/17/24
37.0	Normal Line / SPOT	05/18/24-05/18/24	1	:30	7A- 8:30A (CST)							1		1	\$170.00	\$170.00	WDAY+ (WDAY+)		5/10/24
38.0	Normal Line / SPOT	05/18/24-05/18/24	3	:30	12P- 6P (CST)							1		1	\$70.00	\$70.00	WDAY+ (WDAY+)		5/10/24
39.0	Normal Line / SPOT	05/18/24-05/18/24	1	:30	11:05P- 12:05A (CST)							1		1	\$80.00	\$80.00	WDAY+ (WDAY+)		5/10/24
40.0	Normal Line / SPOT	05/18/24-05/18/24	1	:30	12:05A- 1:05A (CST)							1		1	\$40.00	\$40.00	WDAY+ (WDAY+)		5/10/24
41.0	Normal Line / SPOT	05/19/24-05/19/24	1	:30	6A- 7A (CST)								1	1	\$80.00	\$80.00	WDAY+ (WDAY+)		5/10/24
	CONFIRMATION CONTRACT																		
Accepted	-Agency/Advertiser:		Da	te:	Accepted-Sta	ation:									Date:	Comments:			



AdVictory PO Box 367 Spencerville, MD 20868

	Co Sche
	Adve
ST S	Ager
ND 58103	Prod
	Bran
	Sales
	Sales
	Buye
	Phor
	CPE

Contract # Schedule Dates Advertiser Agency Product Brand Salesperson Sales Office Buyer Name Phone/Fax CPE Account Types Billing Type Comments	91526 05/14/24-05/20/24 Tammy Miller for North Dakota (9880) AdVictory (2150) POLITICAL ND Governor (1053) Political (1024) Jen, Gion (1006) WDAY / AV514520 National/Political - Candidate Standard WDAY+ 5.14-5.20.24	Date Entered Last Modified Entered By CO-OP External # Demo Order Type Package Deal Commission % Commission Net Total Sales Tax	05/10/24 05/17/24 Jennifer Gion No Normal 15.00 \$2,803.50 \$15,886.50	WDAY+ (WDAY+ By Broadcast Month May. 2024 Grand Total:
--	--	--	---	---

	WDAY+ (WDAY+)		
	By Broadcast Month	<u>Spots</u>	<u>Rate</u>
	May. 2024	95	\$18,690.00
	Grand Total:	95	\$18,690.00

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run Times	SPW	Мо	o Tu	We T	ħ	Fr S	a S	u Spo	ts R	Rate	Total	Station	Comments	Entered
42.1	Normal Line / SPOT	05/19/24-05/19/24	1	1:00	7A- 8A (CST)							1	L	1	\$300.00	\$300.00	WDAY+ (WDAY+)		5/17/24
43.0	Normal Line / SPOT	05/19/24-05/19/24	1	:30	8A- 9A (CST)							1	L	1	\$200.00	\$200.00	WDAY+ (WDAY+)		5/10/24
44.0	Normal Line / SPOT	05/19/24-05/19/24	3	:30	12P- 5P (CST)							1	L	1	\$70.00	\$70.00	WDAY+ (WDAY+)		5/10/24
45.0	Normal Line / SPOT	05/19/24-05/19/24	1	:30	5:30P- 6P (CST)								L	1	\$350.00	\$350.00	WDAY+ (WDAY+)		5/10/24
46.0	Normal Line / SPOT	05/19/24-05/19/24	1	:30	10P- 10:35P (CST)							1	L	1	\$800.00	\$800.00	WDAY+ (WDAY+)		5/10/24
47.0	Normal Line / SPOT	05/19/24-05/19/24	1	:30	10:35P- 11:05P (CST)							1	L		\$150.00		WDAY+ (WDAY+)		5/10/24
48.0	Normal Line / SPOT	05/19/24-05/19/24	1	:30	12:05A- 1:05A (CST)								L	1	\$40.00	\$40.00	WDAY+ (WDAY+)		5/10/24
49.0	Normal Line / SPOT	05/19/24-05/19/24	1	:30	4:30A- 5:30A (CST)								L	1	\$40.00	\$40.00	WDAY+ (WDAY+)		5/10/24
					CON														
CONFIRMATION CONTRACT																			
Accepted-Agency/Advertiser: Date:					Accepted-St	ation:								Date	e:	Comments:			

Terms &	Conditions							
	1							i i